
BerenyceV
Typewritten Text
VERSION# 24-09-09













BerenyceV
Text Box
Attach the metal plate (#J) to the table leg (#3) and (#4) with allen key (#I) and by using bolt (#E) with lock washer (#G) and flat washer (#H).

BerenyceV
Text Box
Attach the v leg support (#2) at the center of the table leg (#3) and (#4) and start inserting bolts (#A) with lock washer (#B) and flat washer (#C)  by using allen key (#D).



BerenyceV
Text Box
Align the metal plates to the table top (#1) and start inserting the bolts(#E) with lock washer (#G) and flat washer (#H) with allen key (#I).

BerenyceV
Text Box
Align the v leg support (#2) to the table top (#1) and start inserting the bolts (#F) with lock washer (#G) and flat washer (#H) with allen key (#I).





BerenyceV
Typewritten Text
VERSION# 24-09-09













BerenyceV
Text Box
Align side wood (#2) to the front leg (#3) and with allen key (#E) secure by using bolt (#A) with lock washer (#B) and flat washer (#C).

BerenyceV
Text Box
Align the back panel (#1) to the side wood (#2) and with allen key (#E) secure by using bolt (#A) with lock washer (#B) and flat washer (#C).



BerenyceV
Text Box
Align and attach the seat cushion (#4) to the frame by using screw (#D). 


	IDF-30006BK-OT.pdf (p.1-9)
	IDF-30006BK-SC.pdf (p.10-17)

